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QUESTION 1

Your customer has four important business systems that drive their environment. Which of these systems would be the
highest priority for a services design and adapter plan? 

A. A virtualization host system used for application development and testing by everyone in the IT department. 

B. A database system that is accessed by every individual enterprise application via a JDBC connector. 

C. An employee portal system running on WebSphere used for general HR, email, and company news. 

D. An accounting system accessed by the financial team only when authorized by the CFO. 

Correct Answer: B 

 

QUESTION 2

Which two statements are correct for a loop node in a workflow? (Choose two) 

A. Nodes inside a loop can transition to activities outside the loop provide process.goto("Activity_ID") is used on the
transition. 

B. To retrieve an instance of an activity in a loop, the process.getActivity method is passed two parameters. 

C. The loop node does not specify the results of the nodes in the loop. 

D. loopcount is a local variable available only in the loop node. 

E. Index of activities in a loop starts with zero. 

Correct Answer: BC 

Reference: http://www01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/planning/cpt/
cpt_ic_wkflo_node_loop.htm 

 

QUESTION 3

Which two identity feed service types come with the out of the box IBM Security Identity Manager (ISIM)? (Choose two) 

A. AD Organizational Person Identity Feed (Microsoft Windows Active Directory) 

B. Generalize XML identity feed 

C. Database Identity Feed 

D. DSML Identity Feed 

E. DAML Identity Feed 

Correct Answer: BD 
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QUESTION 4

Your customer needs to be able to show reports by department to each department manager, and also to show overall
company wide reports to auditors. Auditors need to be able to generate reports whenever needed, but are NOT allowed
any other identity management permissions. 

When designing a reporting structure, which TWO of the following considerations will be needed? 

A. Use the object properties in the organizational structure to grant administration domain authority to each department
manager. 

B. Create a set of access control items that scope the objects accessible to managers and auditors. 

C. Set up a view in the administration GUI that shows reporting and data synchronization. 

D. Use the Tivoli Common Reporting component to build out the customized reports. 

E. Design a customized SSUI view that allows auditors to view reports. 

Correct Answer: CE 

 

QUESTION 5

When gathering requirements for a Provisioning Policy design, which key point for granting authorization is important to
be evaluated? 

A. The provisioning policy consider access only by Systems Administrators 

B. The provisioning policy consider assess only by authorized persons 

C. The provisioning policy consider access by authorized groups 

D. The provisioning policy consider access only by managers 

Correct Answer: B 
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